Answers

1. Eg To show that it's an announcement and that it's being said really loudly.

E.g Mo, because in Tim's daydream he says that he has no friends and is known as "Waste of Space”.,
E.z. By putting them in italics.

Tim

E.z. Mo, because the extract is all about how he finds his family boring.

E.z. That she is excited and can't sit still.

S A U

Any appropriate answer. E.g. No, because Tim's parents don't have exciting jobs, so living with them
would be boring. OR E.g. Yes, because Tim has a good sense of humour, | think that we would get on
well and he would make me laugh.



